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KEHA 3.10 3.30 6.40] 15.03
FVIFLVZBE | ¢ 25x90m m
PP HiERT & SHF 2
F—X $20x ¢ 20 {&
PP x VP HiEAT & SHF 1 1 2 25
BFEVSY R 020 {&
PP x VP HiERT & SHF 1 1 2 3
BFEVTY R 025 {&
3.100 3.12| 3.43 3.30 12.95[133. 88
RER m




#AKE (PP 20-25) X ®ZHHKE BHE K
R-1-2 R-1-2|R-1-3 R-1-3 R-1-4
122 | 123 | 131 134 142
£ L1 Roak - ~TiE B it 5
$20 $20 ¢20 ¢ 20 ¢ 20 e
(FH7%)
1 1 7 7
DIKEERATL ¢15x ¢20 | HRF
DIKIEERAT d75x ¢25 | HPR
DIKIEERAT $50x 20 | HFRF
DIKIEERAT $50x ¢25 | HFR
0.70/21.55/ 0.80 4.23 4.77 45 43| 45. 43
KU ERET ¢ 20 m
K UTFVERET  $ 25 m
1 1 11 11
F VIR EYT | ¢ 20 A
FUIFLEYIMT | 0 25 A
1 1 15 15
FIIFLVERFET 20 a
FUIFLVERFET d25 a
MZhMEE 1 1 15 15
EIVEHBFT ¢20 a
MZhMEE
EIVEHMFT ¢25 a
0.70/21.55/ 0.80 4.23 4.77 45 43| 45. 43
HERAZERY-PT | (M) m
BESREE YN T VP& 25 A
1 1 9 9
B EEymT VP o 20 A
TTITER® H=0.60 m
0.70/21.55/ 0.80 4.23 4.77 45 43| 45. 43
TTER@® H=0.60 m




K& (PP 20-25) KEHBKEFTBTEHE X
R-2-1/R-2-1 R-2-2 R-2-2 R-2-2 R-2-2|R-2-2 R-2-2
211 | 212 221 | 222 223 | 224 225 226
£ L1 BAK - Tk B INEIRE
]
20 620 $20 H20 $20 $20| $20 | $25 8 178
(%)
1 1 2 9
DIKRREAT ¢75x ¢p20  HFRT
DIKRREAT ¢75x p25  HFT
1 1 1 1 1 5 5
DIKEEAT H50x ¢p20  HFRF
1 1 1
DIKEEAT o50x p25  HFRT
1.14 1.14 0.80 3.53 3.39 3.23| 3.69 16.92| 62.35
KU ERET ¢ 20 m
8.63 8.63| 8.63
K UTFVERET  $ 25 m
1 1 1 1 1 1 1 7 18
FUIFLVEYIRRT | ¢ 20 A
1 1 1
FUIFLVEYIRRT | @ 25 A
1 1 1 1 1 1 1 7 22
FUIFLVEHRFT ¢ 20 A
1 1 1
FUIFLVEMFT ¢ 25 A
MR F 1 1 1 1 1 1 1 7 22
EIVEHBFT ¢20 m]
MR F 1 1 1
EIVEHMFT ¢25 m]
1.14 1.14 0.80 3.53 3.39 3.23| 3.69 8.63 25.55| 70.98
RS- PT | (MIH) m
1 1 1
BESREE YN T VP& 25 m|
1 1 1 1 1 1 1 7 16
BREREE YN T VP& 20 m|
8.63 8.63| 8.63
TIER® H=0.60 m
1.14 1.14 0.80 3.53 3.39 3.23| 3.69 16.92| 62.35
TIER® H=0.60 m




K& (PP 20-25) KEHBKEFTBTEHE K ;3
R-3-1 R-3-1 R-3-1 R-3-1|R-3-2|R-3-2|R-3-3
311 | 312 | 313 | 318 | 321 | 322 323
£ L1 BAK - Tk B INEIRE
]
20 620 $20 H20 | $20 | $20 ¢25 1 |248FR
(%)
1 1 1 1 1 1 1 7 16
DIKRREAT ¢75x ¢p20  HFRT
DIKRREAT ¢75x p25  HFT
5
DIKEEAT H50x ¢p20  HFRF
1
DIKEEAT o50x p25  HFRT
0.80 0.80 0.80 44.12/ 0.80| 1.33 1.30 49.95[112. 30,
KU ERET ¢ 20 m
8.63
K UTFVERET  $ 25 m
1 1 1 1 1 1 1 7 25
FUIFLVEYIRRT | ¢ 20 A
1
FUIFLVEYIRRT | @ 25 A
1 1 1 1 1 1 1 7 29
FUIFLVEHRFT ¢ 20 A
1
FUIFLVEMFT ¢ 25 A
MR F 1 1 1 1 1 1 1 7 29
EIVEHBFT ¢20 m]
MR F 1
EIVEHMFT ¢25 m]
0.80 0.80 0.80 44.12/ 0.80| 1.33 1.30 49.95(120. 93
RS- PT | (MIH) m
1
BESREE YN T VP& 25 m|
1 1 1 1 1 1 1 7 23
BREREE YN T VP& 20 m|
8.63
TIER® H=0.60 m
0.80 0.80 0.80 44.12/ 0.80| 1.33 1.30 49.95[112. 30
TIER® H=0.60 m




K& (PP 20-25) KEH KEF B H R N 4
R-3-3 R-3-3 R-3-3 R-3-3
331 | 332 | 333 334
£ L1 BAK - Tk B INEIRE
]
25 620 $20 @25 4 | 288
(%)
1 1 2 18
DIKRREAT ¢75x ¢p20  HFRT
1 1 2 2
DIKRREAT ¢75x p25  HFT
5
DIKEEAT H50x ¢p20  HFRF
1
DIKEEAT o50x p25  HFRT
3.12 3.43 6.55/118. 85
KU ERET ¢ 20 m
3.10 3.30 6. 40| 15.03
K UTFVERET  $ 25 m
1 1 2 27
FUIFLVEYIRRT | ¢ 20 A
1 1 2 3
FUIFLVEYIRRT | @ 25 A
1 1 2 31
FUIFLVEHRFT ¢ 20 A
1 1 2 3
FUIFLVEMFT ¢ 25 A
MR F 1 1 2 31
EIVEHBFT ¢20 m]
MR F 1 1 2 3
EIVEHMFT ¢25 m]
3.100 3.12 3.43 3.30 12.95[133. 88
RS- PT | (MIH) m
1 1 2 3
BESREE YN T VP& 25 m|
1 1 2 25
BREREE YN T VP& 20 m|
3.10 3.30 6. 40| 15.00
TIER® H=0.60 m
3.12 3.43 6.55/118. 90
TIER® H=0.60 m




2. PP ¢20-50

(Fa7KEA - B+ CEB)




& G W

(PP ¢ 20-50 A - B - C)

X %
EX ABB | BEB | CHEB OEt HAr BRE O OER |
(# )
PP
K)oy — B 20X 120m 1.00 | 1.50 25 m
PP
N =Fvy @ ¢ 25X90m 40.20 | 4.10 44.3  m
PP
N =Fvy @ ¢ 30X90m 0.50 ' 22.00 3.80 26.3  m
PP
N )fvy T ¢ 40 X 60m 113.70 113.70 | m
PP
N zFvy @ ¢ 50X 40m 0. 50 1.30 L8 m
PP G AT & 5 fEF
LR ¢ 25 1 2 3 A
PP G AT & 5 HEF
TR ¢ 30 2 2 | A
PP G AT & 5 fEF
TR ¢ 50 1 1| 1A
PP G AT & 5 HEF
F— 2 $ 30X ¢ 20 3 3 fH
PP G AT & 5 fEF
F— 2 40X ¢ 20 2 2 | fH
PP G AT & 5 fEF
F— 2 40X ¢ 40 1 I
PP G AT & 5 fEF
BV v b 30X ¢ 25 1 1| &
PP G AT & 5 fEF
BV v b 40X ¢ 30 2 2 |
PP G AT & 5 HEF
BV v b 650X ¢ 30 1 1| &
PP G AT & 5 fEF
BV v b $ 50X ¢ 40 1 1| &
PP G AT & 5 fEF
WFEY 7w b ¢ 50 1 1 2 | A
PP X VP ffE T & 5 kT
WFEY 7o b ¢ 20 2 3 5 {A
PP X VP g & 5 kT
WFEY 7w b ¢ 25 1 1 2 | A
PP X VP G AT & 5 HEF
WFEY 7w b ¢ 30 1 1 2 | A
PP
Fy v/ ¢ 40 1 1A
PP G AT & 5 fEF
oy 1ok Ae Ak ¢ 25 1 1| f&
PP G AT & 5 fEF
oy 1okAe Ak ¢ 30 1 1| f&
B R4S AKEE » 75X ¢ 25 1 I
H RSk ¢ 75X ¢ 30 1 I
s (A x2) ¢ 25 1 1
G AT & 5 HEF
TR b ¢ 25 2 2 | fH




L )

(PP ¢ 20-50 A + B+ CH)

X2 5 .
A A8 | BED | CHEL HEt B E JER
CH B
(FIER) PP ¢ 20 1.00 | 1.50 250 | m
(BIER) PP ¢ 25 40.20 | 4.10 44.30 | m
(BIER) PP ¢ 30 0.50  22.00 3.80 26.30 | m
(B ) PP ¢ 40 113.70 113.70 | m
(EREE) PP ¢ 50 0.50 1. 30 1.80 | m
(f{ﬁ}iﬁ) 115.70 63. 70 9.20 188. 60 m
(ETIHER) 115.70 | 63.70 | 9.20 188.60  m
(AR=IETN
BHRT-T 620 2.50 | — 2.50 | m
(AR=IETN
BEHRT-T 625 44.30 | — | 0.07 44.20 | m
(AR=IETN
EHRT-T 630 26.30 | — 26.30 | m
(AR=IETN
ERART-7 ¢ 40 113.70 — 113.70 m
(AR=IETN
BHRT-T 650 1.80 | — 1.80 | m
BHRSRY-N W50 X 50m/3yy ) b 188.60  m




B & FF R

(PP ¢ 20-50 A - B - CH})

e

Sit Bz BE IEE |
(% %)
Y& 1
S AL T ® 20 2.50 2.50  m
IS 1
N Vv B AR T ¢ 25 44, 30 .07 44.23  m
IS 1
K)oV AR R ¢ 30 26. 30 26.30  m
IS 1
BT AR T é 40 113. 70 113.70  m
IS 1
S AP T $ 50 1. 80 1.80  m
N ES AR )] R ¢ 20 5 5| 0
N Vv E G T ¢ 25 6 6 |
N ES AR )] R ¢ 30 8 8 0O
N Vv G T ¢ 40 4 4 |
s AV ) o ¢ 50 3 3 |
NS4 E ¢ 20 10 10 0
A4 T ¢ 25 11 11 O
)L BT ¢ 30 17 17 0O
) BT ¢ 40 11 11 O
A4 E ¢ 50 6 6 M
EFE S ¢ 50 |
Sy KA EGA T d 75X ¢ 25 1 1 | &P
Sy KA EGA T 75X ¢ 30 1 1 | &P
MR Ry T 188. 60 188.60  m
HYjFpaE b 25 1 1 | f&AT
Mi=hw
b o VERE TR L $ 20 5 5 N0
Mi=hw
b o VERE T L $ 25 2 2 N0
Mi=hw
b o VERE TR L $ 30 2 2 N0
BERR & BT T ¢ 20 5 5 A
BERR & BT T ¢ 25 1 1 A
PERR & BT T ¢ 30 2 2 N
BERR & BT T ¢ 40 1 1 A




i o

I




(JefT LHREE) 1.2
+TO fakE T+T® faKkE
+ T ® & d=0.60 T3 d=0. 60 MJ7EHE /I i
AT
TR () 1m34 V[ 194. 40 1m% Y ||128. 10 322.50 |m
T fill ¥ &y B
t=20cm
AstfiZErg| AT [ m 2.00 [[256. 20 256. 20
Gl T
As
EEERR | =
Wi 1 t=4cm | m2 0.55 || 70. 46 70. 46
(B Hs)
T etk | m3 ] 0.39 || 75. 82 0.36 || 46. 12 121. 94
N77 | m3
T w1 vy m3 ] 0.11 | 21. 38 0.11 | 14.09 35. 47
Wi 1 m3 | 0.28 || 54.43 0.14 |[ 17.93 72. 36
RC-30
E%I t=10cm| m2 0.55 || 70. 46 70. 46
RM-30
%I t=11cm| m2 0.55 || 70. 46 70. 46
As
a4 3em | m2 0.55 || 70. 46 70. 46
#HIRT
| K | m3|o0.11 | 21.38 0.22 || 28.18 49. 56
sy 1
N77 | m3
As
pebE | BR[| m3 0.02 | 2.56 2.56
sy 1
NJ77 | m3




(faKE+ TIERR)

1./1

+ T F 5

+T.®»
FRKE

d=0. 60 HT3&

15.00

115.70

63.70

194. 40

m

+ T
FRIKE
d=0. 60 W] & HE

118.90

9. 20

128. 10

m




rakE ( L pTe] ) H= 0.60 m
I
HBKE
d=0.60 HTE&E
1R #l HEL
1855 GL (ffE T A%GL)
= R g
2
8 I
8
- -;)a": ::":: :': =T §
gy e 8
° a-)ﬂ\a 3 . —
BKE Il N RRVERY,
550
IRERE g+
4 r 2N RFA &t B &= it
TR A T 0.55 X 0.700 X  1.00 = 0.39 m3
HOE T /N Jyvay  ( 0.55 X 0.200 (3. 14/4% ")) X 1.00 = 0.11 m3
R T A+ 0.55 X 0.50 X  1.00 = 0.28 m3
ALy T + w 0.39 -  0.28 = 0.11 m3




( HEA s BIEDD

) H=

PE ¢ 75 0.60 m
T
WKE
d=0.60 ET&E (EEH)
HEHEI ‘ BRL
2| mmeL GETAG) | 8
BB TRN-30 g
FRE#EAIRC-20 8
EHR—b i
§ -
(=] gﬁﬁ&ﬁ m.ﬁEL‘t
o [=) (=)
~ (7<) o
=] .L! o~
=
g
ALY 8
.;)“: > AN §
i : 8
Wk Yoo yiay
550
IRERE g+
4 i TR i ) = it
ST T As t=4cm .00 X 2 = 2.00 m
SHEETEE T As 0.55 X 1.00 = 0. 55 m2
R P I T 0.55 X 0.660 X 1.00 = 0. 36 m3
HORE T N yvay 0.55 X 0.200 —(3.14/4 % "2)) X 1.00 = 0.11 m3
HOE T WA+ 0.55 X 0.26 X  1.00 = 0.14 m3
T & RC-30
o T t=10cm 0.55 X 1.00 = 0.55 m2
= RM-30
w®oAE T t=11cm 0.55 X 1.00 = 0. 55 m2
SELEME (AT As t=3cm 0.55 X 1.00 = 0. 55 m2
ST + W 0.36 — 0.14 = 0.22 m3
FEHRALLS T As 0.55 X 0.04 X 1.00 = 0.02 m3







THEXS TFd (el A1 XA Hikg WEHEE | BEEHE i
+T
A T P (0P) m A= 232.2 230
BT FARRE+ m  (W<2.5m 14.5 14 [pieHH £
m |2.5m=W<4.0m 9.1 9 [t +

BT FEIR S+ m  |[4.0=W 24.5 24 \jiH +

7 ALPR T 7 E m 141.6 140

P AT 7% 1A m 141.6 140

&Y T

(==l PR m 219.7 210
HLR i 231.9 230
Fim#IE m 72.8 72

HERE T /N EE ) A HEREA m3  |L=8.8m 4.1 4 |BigTHa ) —h
/INRUE ) A HEREB m3  |L=20.8m 20.9 20 |BGFIbar 27—k
/N EE ) A HERE C m3  |L=15.8m 11.1 11 B Har7y—h
L%y AN e m  |H=2.1m 14.0 14 |~ kB,

A T B F A AR m  (B300%H300 42.0 42 | B B300%xH3004 A~
B AR m  |B300%H500 34.8 34 | LS B300%H5004 A~
B A B AR m  |[BEE7THIB300%H500 5.0 5 | ki BRI HB300%H500% 1~
B AR m  |B300%H500 135° =t—F— 7.6 7| kB B300%H500 1RHAAL AT
ERsERAIRA N m  (B400%H1200 46.8 46 | “YRELE B400%H 120044~
B AR m  |BEETHIB400*+H1200 5.0 5| kB BT HIB400%H12005 4~




THEXS A Tl A1 XA Hikg WEHEE | BEEHE i

SR RAIRIEN =S e [300H = 7U—hE 61.0 61
SRS Ko 300/ Zv—Fr U 15.0 15 |T-2 AEH] #H L=500
SR RAIRIEN =S B |300%ET T 7L —F 7% 2.0 2 |T-25 K WVMNEE L=1000
SRS Ko |300135° =t—F— 8.0 8
SRz RAIRIEN =S e [400H = 7U—h 37.0 37
SRS Ko 400/ v —F T 9.0 9 |T-2 #A%EH] ME L=500
SRz RAIRIEN =S B |4008EET T 7L —F 7% 2.0 2 |T-25 K WVMNEE L=1000

BT R I AT 78—k m  |B800*HS800 1.6 1| kL

BT Ry 7 ZH L rS—] m  [B1200%F1000 8.4 8.4| YL,

ERT afrEE m | ¢ 600 5.8 5| TR,

HE KT £k PB T 160046004600 4.0 4 BT Ha 70—k
FEKPEC AT {600%600%800 3.0 3 |BGH by 7Y —h
£RIKPD f&HT |700%700%1500 1.0 1 BT Har 70—k
FEKPHE AT 80048001500 1.0 1 [ BiGFTHar 7Y —h
RIKPE fEHT |1400%1400%1550 1.0 1 B Har 70—k
FEKBEG AT |1400%1400%1750 1.0 1 [ BiGFTHar 7Y —h

ML T

HEIEYE L a7 —MiZE VS 29.4 29
a7 — M A kIS 35.1 35
FHAERR G T t=5cm 28.0 28




THEXy TFE vl Gl HAL Hirs WEHEE | BEEHE
LR 2 m  [t=5cm 743.6 743
XA m o |MEfTL ) — N 29.4 29
TR m A7) —bik 35.1 35
XA m|TAT VN 37.2 37
BALSY m | B ) — bk 29.4 29
WALSy m A7) —hk 35.1 35
WALSy m | TAT 7N 37.2 37
iz L
AZ IR LT AZdEHE HEB A 74.0 74
GHE
IR R T HEIR SR m |WR/ES t=55cm 580.3 580 [E A NRELAF
AT TR T m2 |RC-30 t=100 484.5 484

EERET m2 |RM-30 t=100 452.0 452




T TR

T fE & IS
H A L
=7 A(LAD) 233.2(m)|270.4-37.2
AR+ T
BRIR S+ 24.5(m) | A +
FEARRE T
W<1.0 0.0(r) %t JH £
1.O=SW<2.5 14.5(md) [ 1 £
2.5=W<4.0 9. 1(m) |t £
4.0=W () [iit FH
AT
7 HALEE 141.6 233+219.7-(24.5+14.5
+9.1+231.9)/0.9
ESPUiPXE s

PREE V=219.7m
<HEE V=231.9m
TA77 VML ZEEV=743.6%0.05=37.2m




+ T & H F

AU

ESEEL

A —7" Al (1)

' Wr i sl R + & W o A5 R =
No.9
4.000 2.5

No.10 16.000 2.5 2.50 40.0
No.11 20.000 0.0 1.25 25.0
No.11+9.000 9.000 0.5 0.25 2.3
No.12 11.000 0.8 0.65 7.2
No.12+6.0 6.000 0.8 0.80 4.8
No.12+10.000 4.000 16.5 8.65 34.6
No.13 10.000 14.8 15.65 156.5
N E 80.000 270.4




+ T ¥ HE &
R PIERAE | E&E AR 7 E
No.9
4.000

No.10 16.000

No.11 20.000 0.6 0.30 6.0
No.11+49.000 9.000 0.9 0.75 6.8

No.12 11.000 0.5 0.70 7.7
No.12+6.0 6.000 0.5 0.50 3.0
No.12+10.000 4.000 0.0 0.25 1.0

No.13 10.000 0.0 0.00 0.0

/N E 80.000 24.5




+ T HEHEE
Al I T E%Mx@%%vqo) — Hcﬁﬁg%%@iél.g;weﬁ)i -
No.9
4.000

No.10 16.000

No.11 20.000 0.6 0.30 6.0
No.11+9.000 9.000 0.3 0.45 4.1

No.12 11.000 0.2 0.25 2.8
No.12+6.0 6.000 0.2 0.20 1.2
No.12+10.000 4.000 0.0 0.10 0.4

No.13 10.000 0.00 0.0

N E 80.000 0.0 14.5




+ T HEHEE
Al I Hcﬁﬁg%%@%z.i;wqmi = e E%fd—t@%(%@w) .
No.9
4.000
No.10 16.000
No.11 20.000 0.0 0.00 0.0
No.11+9.000 9.000 0.3 0.15 1.4
No.12 11.000 1.1 0.70 7.7
No.12+10.000 10.000
No.13 10.000
a8 80.000 9.1 0.0




¥ T THEEER

T fE B & T
Iz 219.7(m)
P 5L 231.9(nm)
Sk 72.79(nd)




VB % + T 3 8 &
R PIERAE | @E 5T E A @E i E
No.9
No.9+4.0 4.000 2.5
No0.9+9.0 5.000 2.5 2.50 12.5 0.5
No.10 11.000 2.5 2.50 27.5 0.5 0.50 5.5
No.11 20.000 5.6 4.05 81.0 0.3 0.40 8.0
No.11+9.000 9.000 2.5 4.05 36.5 0.0 0.15 1.4
No.12 11.000 0.0 1.25 13.8 0.3 0.15 1.7
No.12+6.0 6.000 0.0 0.00 0.0 0.3 0.30 1.8
No.12+10.000 4.000 0.0 0.00 0.0 2.2 1.25 5.0
No.13 10.000 0.0 0.00 0.0 2.8 2.50 25.0
/N E 80.000 171.3 48.4




VB % + T 3 8 &
R T 5T E FEE i E
No.9
No.9+4.0 4.000
No0.9+9.0 5.000 2.4
No.10 11.000 2.4 2.40 26.4 0.4 0.20 2.2
No.11 20.000 4.9 3.65 73.0 0.3 0.35 7.0
No.11+9.000 9.000 2.3 3.60 32.4 0.0 0.15 1.4
No.12 11.000 0.0 1.15 12.7 0.3 0.15 1.7
No.12+6.0 6.000 0.0 0.00 0.0 0.3 0.30 1.8
No.12+10.000 4.000 0.0 0.00 0.0 6.1 3.20 12.8
No.13 10.000 0.0 0.00 0.0 6.0 6.05 60.5
/N E 80.000 144.5 87.4




B %2 + T 3 & &

R XIERE 5= gﬁﬁ% AR E = gﬁﬁ% B

No.9

No.9+4.0 4.000

No0.9+9.0 5.000 0.67

No.10 11.000 0.67 0.670 7.37 0.51 0.255 2.81

No.11 20.000 1.03 0.850 17.00 0.15 0.330 6.60
No.11+9.000 9.000 0.76 0.895 8.06 0.00 0.075 0.68

No.12 11.000 0.00 0.380 4.18 0.51 0.255 2.81
No.12+6.0 6.000 0.00 0.000 0.00 0.51 0.510 3.06
No.12+10.000 4.000 0.00 0.000 0.00 1.60 1.055 4.22

No.13 10.000 0.00 0.000 0.00 1.60 1.600 16.00

& 3 80.000 36.61 36.18




T f& ¥ = W=
R R 580.3(mt) W FJEX t=55cm
NELS 484.49(n) t=100mm

b JE A 452.0(nt) t=100mm




o 3k T 3 B &

s SHEE T & & EEr T T & =
No0.9+4.2 2.50 2.50

No0.9+9.3 5.100 2.50 2.500 12.75 2.50 2.500 12.75
No0.9+9.3 0.000 5.00 3.750 0.00 5.00 3.750 0.00

No.10 10.700 5.00 5.000 53.50 5.00 5.000 53.50

No.11 20.000 5.00 5.000 100.00 5.00 5.000 100.00
No.11+4.0 4.000 5.00 5.000 20.00 5.00 5.000 20.00
No.11+4.0 0.000 14.00 9.500 0.00 14.00 9.500 0.00
No.11+9.000 5.000 14.00 9.500 47.50 14.00 9.500 47.50
No.11+10.0 1.000 14.00 14.000 14.00 14.00 14.000 14.00
No.11+10.0 0.000 5.00 9.500 0.00 5.00 9.500 0.00
No.11+18.5 8.500 5.00 9.500 80.75 5.00 9.500 80.75
No.11+18.5 0.000 16.89 15.445 0.00 16.89 15.445 0.00

No.12 1.500 16.89 15.445 23.17 16.89 15.445 23.17
No.12+4.0 4.000 16.89 10.945 43.78 16.89 10.945 43.78
No.12+4.0 0.000 5.00 10.945 0.00 5.00 10.945 0.00
No.12+8.7 4.700 5.00 10.945 51.44 2.50 9.695 45.57
No.12+10.000 1.300 2.50 9.695 12.60 0.00 8.445 10.98

No.13 10.000 2.50 2.500 25.00 0.00 0.000 0.00

/N E 75.800 484.49 452.00




W% T M E B
BE IR e B (t=55cm)(r)

AU X [T R E X DA W R E X DAY =
No.9 4.3
No.9+4.2 4.200 4.3 4.30 18.1
No.9+9.3 5.100 4.3 4.30 21.9
No.10 10.700 8.6 6.45 69.0
No.11 20.000 8.6 8.60 172.0
No.11+9.000 9.000 8.6 8.60 77.4
No.12 11.000 8.6 8.60 94.6
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